| Efficiency vs Dxy |
0.1

5 S
0 0.09F i der bbb
< A T T
R e
o A T T
Q 0.07 it
] e s TS SN ST S S
R e

Xy

eff

T
e T T

e o i o o

Y S G

J-.GEIIII:IIII:IIII:IIII:I I!I II:IIII:IIII!IIII!IIII

Ratio

B & | T B o e

i | R
b il
-25-20-15-10 -5 0 5 10 15 20 25
TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original-0
[ Efficiency vs Dz | |—s— DQM_TT__mkFit-DQM_mod-127

05 —— DQM_TT__mkFit-DQM_mod_updated-127

377 SN NN RS S S —

dz

a‘ E . . . . .

) e S S

@] C . : : . .

£ 0.35 o Frrereree frorereeeee A

o - : : : : :
s
2B
0 R
A R B

s ot et ot
0.05 ' ' ' ' '
1Q

Ratio

30 =2 i j 0 20 30
TP dz (cm)



	Contents
	Page 1


